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| A | B | © o el r G | » J J K L
12 |inverse matrix
13 | 0151 00775 00423 00986 -0.0528 -0.0433 12
14 | 02746 02723 04061 0103 0174 0054 0
15 | 0I655 -00188 -0.315 00012 0843 01256 -45
16 | 04577 03427 03931 004101 00012 -0.1045 -3
11 | 05458 02676 -0.3732 00458 00915 01021 4
18 | 00775 00728 -0.0084 00892 007 -0.0446 -81
13
20 |
21 | 0151 00775 00423 00986 -00628 -0.0433 12
22 0 01313 03295 -0.2863 0.2132 0.1434 38.233
23 0 00659 -00853 01066 01068 00717 -31984
24 0 01085 02713 03391 01603 0.0446 -45.274
E 0 00116 02203 04012 -0.0988 -0.0756 91258
2 0 -0124  -0031 00388 00388 -0.0194 -87.14
21 tl 756
28
23 01318 0.3295 -0.2868 0.2132 01434 38.233
30 0 026 026 o [ -51
3 0 0 01023 -0.0M7 -0.0735 76,765
32 0 025 04265 0176 -0.0882 87.882
23 0 025 02089 02206 01029 64529
34 2 384
35
36 025 028 [ 0 51
a1 0 -01028 -0.0M7 -0.0735 -76.765
38 0 01765 076 -0.0882 139,88
39 0 00441 02206 01029 -105.53
40 € 702
4 |
42 01023 -00M7 -00735 -76.765
as 0 01423 -o,zn;| 7.235;| [ 1
44 0 02W3 0071 -138.43
45 [ 438
48
47 | 0128 0213 E 15 816
4 | 0025
C) 43 [ (0]
2 242 6 2 ( 12
4 <22 4 2 -6 60
2 6 6 -2 4 2 —45
A= B=
10 4 22 -2 4 2 -3
-2 4 6 2 6 l 48
.8 6 2 -12 64 \ -81
{ -0151 0077 0.042 0.099 -0053  -0.049
0275 0272 0.406 -0.108 0.117 0.054

0.165 -0.019 —0.131 1174 x 1073 0.164 0.126

-0458 0343 0399 0041 1174 x 1077 -0.104
~0.373 0.046 0082 0102

| 0077 -0073 939 x 107" 0.089 0012 —0.045
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